
<<<<@ˆbn�þa@ï����Øß@òjnÇZ 

 

 

ì†Ò„¹]<ÜÎ…<<<<<V<V<V<V03<<<<< << << << <

ì�^{{{{{{{{{{{¹]<<<<J<íéñ^èˆéÊ<Ýç×ÂV< <

Ù^{{{{{{{{{{r{¹]<<VíÎ^ŞÖ]<æ<ÔéÞ^Óé¹]<J< <

ì‚{uç{{{{{{{{{Ö]<<<<V<Ö]<íßÚ^ÓÖ]<íÎ^Ş J< << << << <

ïç{{{{{{{{j{Š¹]<<<<^m<íß‰<VíéÞ<J<íéfè†Ÿ<Ýç×Â< <

l]ð^ËÓÖ]<íÊ‚ãjŠ¹]<V< <

I …ù]<ÄÚ<Ù�^fjÚ<�m`i<»<g×‘<ÜŠ¢<íßÚ^ÓÖ]<íÎ^ŞÖ]<gŠ¬<æ<�ÃèJ<˜e^ßÖ]<æ_Kæ<š 

I J<˜e^Þ<åç�i<æ<g×‘<ÜŠq<Å^Ëi…c<‚è‚vjÖ<íÎ^ŞÖ]<¾^Ë©c<_‚fÚ<ØÛÃjŠè< <

ïçj�]<êÛéâ^Ë¹]<V< <

I J<š…ù]<ÄÚ<Ù�^fjÚ<�m`i<»<ÜŠ¢<íéÖ^ÏnÖ]<íßÚ^ÓÖ]<íÎ^ŞÖ]<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<. .ppE m g h= 

I Ö]<íÎ^ŞÖ]<<êÞæˆ×u<˜e^ßÖ<íéÞæ†¹]<íßÚ^Ó<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<J21
. .

2
pe

E K X=< <

Äq]†¹]<V< <

� J<ê‰…‚¹]<h^jÓÖ] 

� <J<íÏÊ]†¹]<íÏémçÖ] 

� J<t^ãß¹] 

� J<ƒ^j‰ù]<ØéÖ� 

� J<kÞ�Þý] 

� J<íéq…^}<gjÒ< <

^‰çÖ]Øñ<í×ÛÃjŠ¹]<V< <

� J<íè†Ò 

� <<<äjÞæ†Ú<ke^m<êÞæˆ×u<˜e^Þ16( / )K N m=J 

� J<íÃée…<‡^ãq 

� <J<íË×j§<ØjÓe<Ý^Šq_ 

� <í×ÛÃjŠ¹]<h…^rjÖ]<˜ÃfÖ<ÝøÊ_  J < 

� <<†içéfÛÓÖ]<‡^ãq . 

� <J<š†ÃÖ]<‡^ãq< <
ÜèçÏjÖ]<V< <

� <àè†³9<<87فحةص<J 

� <àè†³10<88فحةص<J 

 . 89صفحة 13تمرين �

� <àè†³<14<89 فحةص<J 

� E<êÖˆßÚ<gq]æ03<VD 

<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<àè†³8<<87فحةص<J 

<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<àè†³12<<88فحةص<J< << << << <

<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<†Şèç�<àe<V<�jË¹]<<<<<<<<<<<<<<<<<<<<<<<<<V<íé‰]…‚Ö]<íßŠÖ]2013I2014



<<<<@ˆbn�þa@ï����Øß@òjnÇZ 

 

A1 

A0 

A2 

A3 

A4 

A5 

A6 

θ=0,02s 

Ù^�]Ù^�]Ù^�]Ù^�]<<<<<V<V<V<V<íÎ^ŞÖ]<æ<ÔéÞ^Óé¹]<< <
<ì‚uçÖ]<ì‚uçÖ]<ì‚uçÖ]<ì‚uçÖ]<V<V<V<VÖ]J<íßÚ^ÓÖ]<íÎ^Ş< 

I- <íéÖ^ÏnÖ]<íßÚ^ÓÖ]<íÎ^ŞÖ]PPE<V 

�è†Ÿ<½^�Þ<V<J<ð]ç�]<ÄÚ<íéq…^¤]<l^Ò^Ójuý]<Ù^Ûâc<íÖ^u<»<íËè„Î<íÒ†u<í‰]…�< <
�]{{Í‚{{{{{<V<V<íÎøÃÖ]<±c<Ùç‘çÖ]. .PPE m g h=J< <

íe†rjÖ]<_‚fÚ<V< <
<äj×jÒ<ğ̂ ÛŠq<Í„ÏÞ20m g=<<Ä•ç¹]<àÚ<î×Âù]<ç©O<<íéñ]‚jec<íÂ†Še0ν<�jÃÞ<H

<Ä•ç¹]<àÚ<l^Â^Ëi…þÖ<Œ^éÏÖ]<_‚jÚ0A<J< <
I V<êÖ^jÖ]<ØérŠjÖ]<î×Â<Ø’vßÊ<H<äjÒ†u<ð^ßm_<ÜŠ¢]<^ã×Ç�è<�Ö]<Å^•æù]<Ì×j§<ØrŠÞ< <
I <V<çâ<°éÖ^jjÚ<°×érŠi<ØÒ<°e<Ñ†ÇjŠ¹]<àÚˆÖ]0,02sθ =<J< <
I <Å^Ëi…ý]<°ÃÞh<<Ä•çÛ×Ö<ífŠßÖ^e0A<<ÜŠ¢]^ã×Ç�è<�Ö]<Å^•æù]<àÚ<Ä•çÚ<ØÓÖ<ÐÊ]ç¹]

<J<å�çÃ‘<ð^ßm_< <
I J<Ä•çÚ<ØÓÖ<íÏÊ]ç¹]<íÂ†ŠÖ]<°ÃÞ< <

I V<êÖ^jÖ]<Ùæ‚¢]<»<íÞæ‚Ú<sñ^jßÖ]< 

< <
< <
< <

<< <
hç×Ş¹]<ØÛÃÖ]<V< <

1- V<Ùæ‚¢]<ØÛÒ_ 

2- <îßvß¹]<Ü‰…_( )Ch f E=<J 

3- <á^éfÖ]<ØéÚ<íÛéÎ<gŠu_
C

h
a

E

∆
=
∆

<<…]‚Ï¹]<ÄÚ<äÞ…^Î<Üm
1

.m g

 −
 
 
<<oéu<H10 /g N kg=<J 

4- °Ã•ç¹]<°e<D<š…_<G<ÜŠq<E<í×Ûr×Ö<íÎ^ŞÖ]<¾^Ë©c<íÖ�^ÃÚ<gjÒ_0A<<Ä•ç¹]<æAJ<êËéÒ 

5- J<D<š…_<G<ÜŠq<E<í×Ûr×Ö<íéÖ^ÏnÖ]<íßÚ^ÓÖ]<íÎ^ŞÖ]<ì…^fÂ<sjßj‰c< <
½^�ßÖ]<Øu<<V< <

1- <Ùæ‚¢]<ØÛÒ_<V 

A6 A5  A4  A3  A2  A1  A0  Ai  
10,8  10,0  8,8  7,2  5,2  2,8  0,0  hi(10

-2
m)  

  0,5  0,7  0,9  1,1  1,3    vi(m/s)  
  2,5  4,9  8,1  12,1  16,9    EC(10

-3
J)  

<V<íÂ†ŠÖ]<h^Šu
2

2 0
1

(5,2 0).10
1,3 /

2 2.0,02

d A A
m s

t
ν

θ

−−
= = = =
∆

 

V<íéÒ†£]<íÎ^ŞÖ]<h^Šu
1

2 2 3
1

1 1
. 0,02 (1,3) 16,9.10

2 2
CE m Jν −= = × × = 

A6 A5  A4  A3  A2  A1  A0  Ai  
10,8  10,0  8,8  7,2  5,2  2,8  0,0  hi(10

-2
m)  

              vi(m/s)  
              EC(10

-3
J)  



<<<<@ˆbn�þa@ï����Øß@òjnÇZ 

 

2- <îßvß¹]<Ü‰…( )Ch f E=J 

< <
< <
< <
< <
< <
< <
< <
< <
< <
< <
< <
< <
< <
< <
< <

 

3- …]‚Ï¹]<h^Šu<<
C

h
a

E

∆
=
∆

<æ<1

.m g

 −
 
 
<J< <

<V<ØÓ�Ö]<àÚ<äjÖ�^ÃÚ<_‚f¹]<àÚ<†µ<÷<ÜéÏjŠÚ<¼}<àÂ<ì…^fÂ<êÞ^éfÖ]<îßvß¹]. Ch a E b= +<< <
<V<oéua<<æ<äéqçjÖ]<ØÚ^ÃÚb<ÏÞ<J<géi]�Ö]<…ç¦<ÄÚ<êÞ^éfÖ]<îßvß¹]<Ä�^Ïi<íŞ< <

<<V<äßÚ<æ
2

3

(8,8 7,2).10
5 /

(4,9 8,1)10C

h
a m J

E

−

−

∆ −
= = = −
∆ −

<<<VäßÚ<æ15 / 5a m J N −= − = −< <

<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<æ211,2.10b m−=< <

<V<îßvß¹]<íÖ�^ÃÚ<V<äßÚ<æ5 0,112Ch E= − +<< <

<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<…]‚Ï¹]<^ßè‚Ö<æ11 1
5

. 0,02.10
N

m g

−− −
= = −< <

<äéqçjÖ]<ØÚ^ÃÚ<ádÊ<äé×Â<æa<<…]‚Ï¹]<ëæ^Šè1

.m g

−<< <

<<<<<<<<<<V<äßÚ<æ1

.C

h

E m g

∆ −
=

∆
<<<<<<V<äßÚ<æ. .CE m g h−∆ = ∆< <

< <
< <
< <

h(10-2m)

EC(10-3J) 

1 

1 



<<<<@ˆbn�þa@ï����Øß@òjnÇZ 

 

4- íèçÎ^ŞÖ]<í×é’£]<D<š…_<G<Ü’q<E<í×Ûr×Ö<V 

<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<V<íÎ^ŞÖ]<¾^Ë©c<íÖ�^ÃÚ< <

<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<
0 0

0 0

. .

A A A A

A A A A

C PP C PP

PP PP C C

PP C

E E E E

E E E E

E E m g h

+ = +

− = −

∆ = −∆ = ∆

 

< <
< <
< <
< <

5- íréjÞ<V 

<äj×jÒ<ÜŠq<á^Ò<]ƒcm<<Å^Ëi…c<î×Â<�çqçÚ<æh<<íÎ^�<áˆ¡<D<š…_<G<ÜŠq<E<í×Û¢]<ádÊ<š…ù]<xŞ‰<àÚ
<îÂ‚iÖ]íÎ^Ş<íßÚ^ÓÖ]<íéÖ^ÏnÖ]<<V<{e<^ãi…^fÂ<îŞÃi<æ. .

PP
E m g h=<J 

<<< <
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

< <
< <

 

D<š…_G<ÜŠq<E 

 

 

 



<<<<@ˆbn�þa@ï����Øß@òjnÇZ 

 

i{{Ï{{{{èç{{{{{{Ü< <

<àè†ÛjÖ]<Øu09<<ívË‘78<<V< <

1- <Ä•ç¹]<»<íè†ÓÖ]<íÂ†‰<h^ŠuBJ 

<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<V<D<š…_G<íè†Ò<E<í×Ûr×Ö<íèçÎ^ŞÖ]<í×é’£]< <
V<íÎ^ŞÖ]<¾^Ë©c<íÖ�^ÃÚ< <

     

2

2

1

1

2

2 ( )

2 ( )

2

2 /

A A B B

B A B

C PP C PP

C PP PP

B A B

B A B

B A B

B

B

E E E E

E E E

m m g h m g h

g h h

g h h

g h

m s

ν

ν

ν

ν

ν

+ = +

= −

= −

= −

= −

=

=

 

2- <Ä•ç¹]<»<íè†ÓÖ]<íÂ†‰<h^ŠuC<J 

<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<V<D<š…_G<íè†Ò<E<í×Ûr×Ö<íèçÎ^ŞÖ]<í×é’£]< <
V<íÎ^ŞÖ]<¾^Ë©c<íÖ�^ÃÚ< <

<<<<<<<<<<<<<<<
2 2

2 2

2

1 1

2 2

2

2

4,69 /

B B C C

C B B

C PP C PP

C C PP

C B B

C B B

B B B

B

E E E E

E E E

m m m g h

g h

g h

m s

ν ν

ν ν

ν ν

ν

+ = +

= +

= +

= +

= +

=

 

 

3- <ï‚¹]<h^Šux<àÚ<íÎ†ÇjŠ¹]<íéßÚˆÖ]<ì‚¹]<kÞ^Ò<]ƒcB±cC<<êâ0,5sJ 

<…ç�]<ÐÊæ<^ßè‚Ö( )ox<íÂ†ŠÖ]2 /Bx m sν =<<^ãÞù<íje^màÚ<ì…�^Ç¹]<í¿£<íéÏÊ_<l�jÂ_B<àÂ<ì…^fÂ<êâ<æ

<V<^ßè‚Ö<äßÚ<æ<<êÏÊ_<Í„Î. 2.0,5 1Bx Bx

x
x t m

t
ν ν= ⇒ = ∆ = =

∆
<<< 

 

 

 

 

 

 

D<š…_G<íè†Ò<E 

 

 
 

 

D<š…_G<íè†Ò<E 

 

 
 

 



<<<<@ˆbn�þa@ï����Øß@òjnÇZ 

 

II - íéÞæ†¹]<íßÚ^ÓÖ]<íÎ^ŞÖ]PeE V 

�è†Ÿ<½^�Þ<V<íÒ†u<í‰]…�<J<†è^ÃÚ<˜e^ße<�æ‚�Ú<ÜŠq< <
ù]í×ÛÃjŠ¹]<l]æ�V<<äjÞæ†Ú<ke^m<†è^ÃÚ<˜e^Þ16 /K N m=<J<íË×j§<ØjÓe<Ý^Šq_<H< <

íe†rjÖ]<_‚fÚ<V< <
Þ^ß×Ö<ì†£]<íè^ãßÖ]<¼e†Þ<æ<…^ÛŠÚ<»<˜e^ßÖ]<¼e†äj×jÒ<ÜŠœ<˜em<íÂ†‰<áæ‚e<¼ÏŠè<äÒ�Þ<Üm<H

<Ä•ç¹]<±c<˜e^ßÖ]<ØéŞjŠéÊ<H<íéñ]‚jecBÖ]<Ý‚Ãßi<àè_íÂ†Š<J< <
I í×jÓ×Ö<íË×j§<ÜéÎ<Øq_<àÚ<íe†rjÖ]<…†ÓÞm<íÖ^Şj‰ý]<…]‚ÏÚ<ì†Ú<ØÒ<êË×rŠÞ<æ( )xJ 

V<êÖ^jÖ]<Ùæ‚¢]<»<íÞæ‚Ú<sñ^jßÖ]< <
< <

x
2 
(m

2
) m.g.x (J)  x (m)  m (kg)  

    0,12  0,10  
    0,24  0,20  
    0,36  0,30  
    0,48  0,40  

< <
< <
< <
< <
< <
< <

<hç×Ş¹]<ØÛÃÖ]<V<< <
1- V<Ùæ‚¢]<ØÛÒ_< 

2- íÎ^ŞÖ]<¾^Ë©c<íÖ�^ÃÚ<gjÒ_<Üm<HD<š…ù]<G<˜e^ßÖ]<G<ÜŠ¢]<E<í×Ûr×Ö<íèçÎ^ŞÖ]<í×é’£]<¼Â_<J<í‰æ…‚¹]<í×Ûr×Ö 

3- <îßvß¹]<Ü‰…_2. . ( )m g x f x=<J 

4- V<ì…^fÃÖ]<íe^jÒ<àÓµ<äÞ_<°e<21
. . .

2
m g x K x=<J 

5- <íéÞæ†¹]<íßÚ^ÓÖ]<íÎ^ŞÖ]<ì…^fÂ<sjßj‰cPeE<J<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<9,81 /g N kg=< <
½^�ßÖ]<Øu<V 

1- V<Ùæ‚¢]<ØÛÒ_ 

x
2 
(m

2
) m.g.x (J)  x (m)  m (kg)  

1,44.10
-2  0,12  0,12  0,10  

5,76.10
-2  0,47  0,24  0,20  

12,96.10
-2  1,06  0,36  0,30  

23,04.10
-2  1,88  0,48  0,40  

 

2- J<D<š…ù]<G<˜e^ßÖ]<G<ÜŠ¢]<E<í×Ûr×Ö<íèçÎ^ŞÖ]<í×é’£] 

^Ë©c<íÖ�^ÃÚ<V<íÎ^ŞÖ]<¾< <

  <<<<<<
A A B B

B A B

PP Pe PP Pe

Pe PP PP

Pe PP

E E E E

E E E

E E

+ = +

= −

∆ = −∆

< <

<<<<<<<<<<V<^ßè‚Ö<æA Bh h x− =<<<<<<V<äßÚ<æ. . .....(1)
BPeE m g x=< <

D<š…ù]G˜e^ßÖ]G<ÜŠ¢]<E 

 

 

 

 

L0 

EPeA=0 

B 

x 

h 

EPP=0 š…ù]<xŞ‰ 



<<<<@ˆbn�þa@ï����Øß@òjnÇZ 

 

3- <îßvß¹]<Ü‰…_2. . ( )m g x f x=V 

< <
< <
< <

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

< <
< <
< <

< <

< <
Ú<äjÖ�^ÃÚ<_‚f¹]<àÚ<†²<ÜéÏjŠÚ<¼}<àÂ<ì…^fÂ<êÞ^éfÖ]<îßvß¹]<V<ØÓ�Ö]<à2. .m g x a x=<< <

<oéua<<V<äßÚ<æ<äéqçjÖ]<ØÚ^ÃÚ2

2

( . . ) 1,88 0,12
8( / )

0,2304 0,0144

m g x
a J m

x

∆ −
= =

∆ −
≃< <

V<êâ<îßvß¹]<íÖ�^ÃÚ<äßÚ<æ<2. . 8m g x x=< <

4- V<á_<l^fmc<21
. . .

2
m g x K x= 

<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<V<^ßè‚Ö<<<<<2. . 8.m g x x=<<VäßÚ<æ216
. .

2
m g x x=<V<äé×Â<æ21

. . . ...(1)
2

m g x K x=< <

J<ívfv‘<ì…^fÃÖ]<äßÚ<æ< <
5- <íéÞæ†¹]<íßÚ^ÓÖ]<íÎ^ŞÖ]<ì…^fÂ<sjßj‰c

PeEV 

E<àÚ<^ßè‚Ö1E<æ<D2<V<‚¨<D21

2
Pe

E K x= 

m.g.h(J) 

x2(m2) 
0,12 

0,02 



<<<<@ˆbn�þa@ï����Øß@òjnÇZ 

 

<æ_<ØéŞjŠè<^Ú‚ßÂ<äjÞæ†Ú<ke^m<˜e^Þ<¼Ç¿ßèK…]‚Ï²x<<î×Â<íéÞæ†¹]<íßÚ^ÓÖ]<íÎ^ŞÖ]<ì…^fÂ<gjÓi

<V<êÖ^jÖ]<ØÓ�Ö]21

2
Pe

E K x= 

Ü{{{{{{èç{{{{Ï{{i< <

<àè†ÛjÖ]<Øu13<<ívË‘89<<V< <

1I <E<í×Ûr×Ö<íèçÎ^ŞÖ]<í×é’£]ÜŠq<˜e^ÞGV<D<š…_G 

 

 

 

 

 

 

 

 

<E<í×Ûr×Ö<íèçÎ^ŞÖ]<í×é’£]ÜŠq<˜e^ÞGV<D 

< <
< <
< <
< <
< <

 

2I íÎ^ŞÖ]<¾^Ë©c<íÖ�^ÃÚ<<E<í×Ûr×ÖÜŠq<˜e^ÞGD<š…_G V 

<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<

A A B B

A B B

Pe PP Pe PP

PP Pe PP

E E E E

E E E

+ = +

= +
 

íÎ^ŞÖ]<¾^Ë©c<íÖ�^ÃÚ<<E<í×Ûr×ÖÜŠq<˜e^ÞGD V< <

    <<<<<<<<<<<<<<<<<<<<<<<<< <<<<<<<<<<<<<<<<<<<<<<<<<<<<<       <<<<<<<< 

( )

( )

A B

B

Pe Pe

Pe

E W P E

W P E

+ =

=

���

��� 

3I V<˜e^ßÖ]<^â„}`è<íÖ^Şj‰c<î’Î_<h^Šu< <
<E<í×Ûr×ÖÜŠq<˜e^ÞGD V< <

<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<

2

( )

1

2

2
0,39

BPeW P E

K x mgh mgx

mg
x m

K

=

= =

= =

���

 

4I <V<˜e^ß×Ö<íéÞæ†¹]<íßÚ^ÓÖ]<íÎ^ŞÖ]< <

EÜŠq<˜e^ÞGD<š…_G  

 

 

 

D<˜e^ÞGÜŠq<E 

 

 



<<<<@ˆbn�þa@ï����Øß@òjnÇZ 

 

<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<

2

2

1

2

0,5 10 (0,39)

0,76( )

Pe

Pe

Pe

E K x

E

E J

=

= × ×

=

 

<

E<ÜÎ…<êÖˆßÚ<gq]æ30D< <

<àè†ÛjÖ]<Øu8<<ívË‘87<<V< <

1- <V<‚¨<íéÖ^ÏnÖ]<íßÚ^ÓÖ]<íÎ^ŞÖ]<h^Š£<Äq†ÛÒ<š…ù]<…^fjÂde 

1

1

1

1

0,4 9,8 1,2

4,7( )

PP

PP

PP

E mgz

E

E J

=

= × ×

=

<< <

2- V<íè†ÓÖ]<äÇ×fi<Å^Ëe…c<î’Î_ 

<G<íè†Ò<E<í×Ûr×Ö<íèçÎ^ŞÖ]<í×é’£]<^ßè‚Ö<V<êâ<D<š…_< <
V<íÎ^ŞÖ]<¾^Ë©c<íÖ�^ÃÚ< <

<

1 1 2 2

1 1 2

1

1

2
1 2

2
2 1

2

1

2

1 1
( )
2

1
((0,5 0,4 16) 4,5) 2

0,4 9,81

C PP C PP

C PP PP

PP

PP

E E E E

E E E

m E mgz

z m E
mg

z m

ν

ν

+ = +

+ =

+ =

= +

= × × + =
×

<<[ 

V<çâ<íè†ÓÖ]<äÇ×fi<Å^Ëi…c<î’Î_<ğ]ƒc<2 2z m=< 

3- íÎ^ŞÖ]<¾^Ë©c<_‚fÚ<î×Â<�^ÛjÂde<<^ãÎøŞÞc<Ä•çÚ<»<íè†ÓÖ]<íÂ†‰<áçÓi<Õ^Ójuý]<ïçÎ<Ù^Ûâde<æ
<±æù]<íÂ†ŠÖ]<^ãŠËÞ<êâ4 /m sν =<V<íÂ†ŠÖ]<Å^Ã�<“ñ^’}<äé×Â<æ 

� J<íè†ÓÖ]<ˆÒ†Ú<êâ<�m`jÖ]<íŞÏÞ 

� J<ØË‰ù]<çv}<V<íã¢] 

� J<š…ù]<xŞ‰<î×Â<êÖçÎ^�<V<ØÚ^£] 

� <V<ì‚�Ö]4 /m sν = 

4- V<š…ù]<^ãjŠÚøÚ<í¿£<íè†ÓÖ]<íÂ†‰<h^Šu 

½1<Ù]öŠÖ]<àÚ<D<š…ù]<G<íè†ÓÖ]<E<í×Û¢]<…^éj}de<D2 c<íÖ�^ÃÚ<‚¨V<íÎ^ŞÖ]<¾^Ë©< <
V<íèçÎ^ŞÖ]<í×é’£]<^ßè‚Ö 

<V<íÎ^ŞÖ]<¾^Ë©c<íÖ�^ÃÚ< <

Eíè†Ò<GD<š…_  
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2 2 3 3

2 3

2

2 3

2

3 2

3 2

1

2

2

2 6,26 /

C PP C PP

PP C

E E E E

E E

mgz m

gz

gz m s

ν

ν

ν

+ = +

=

=

=

= =

 

< <
 

½2V<D<íè†ÓÖ]<E<í×Û¢]<…^éj}de<D< <
V<íèçÎ^ŞÖ]<í×é’£]<^ßè‚Ö 

<V<íÎ^ŞÖ]<¾^Ë©c<íÖ�^ÃÚ< <

2 3

3

2
2 3

2
3 2

3 2

( )

( )

1

2

2

2 6,26 /

C C

C

E W P E

W P E

mgz m

gz

gz m s

ν

ν

ν

+ =

=

=

=

= =

���

���

< <

<V<êâ<š…úÖ<^ãjŠÚøÚ<í¿£<íè†ÓÖ]<íÂ†‰<äé×Â<æ3 6,26 /m sν =< <

<àè†ÛjÖ]<Øu21<<ívË‘88<<V< <

1- <Ä•çÖ]<»<í×Ûr×Ö<íéÖ^ÏnÖ]<íßÚ^ÓÖ]<íÎ^ŞÖ]<Ùçvji<D<š…ù]<G<˜e^Þ<G<íe†Â<E<í×Û¢]<…^éj}deA<íÎ^�<±c
<Ä•çÖ]<»<íéÒ†uB<<Ä•çÖ]<»<íéÞæ†Ú<íßÚ^Ò<íÎ^�<±c<Üm<HD<J<˜e^ßÖ]<½^Ç–Þc<íréjÞ  

2- <°Ã•ç¹]<°e<íèçÎ^ŞÖ]<í×é’£]A<<æD<<V 

 

 

 

 

3- V<íÎ^ŞÖ]<¾^Ë©c<íÖ�^ÃÚ< 

     <<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<A A D D

A D

PP Pe PP Pe

PP Pe

E E E E

E E

+ = +

=
 

4- <V<êâ<˜e^ßÖ]<^ãe<¼Ç–ßè<íÊ^ŠÚ<î’Î_ 

<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<
21

2

A DPP PeE E

mgh K x

=

=
 

<V<^ßè‚Ösin30h AB= ° 

DÜŠq<E 

 

 

E˜e^ÞGíè†Ò<GD<š…_  
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V<äßÚ<æ<<<<<

2. . . .sin30

2 0,8 10 0,8 0,5

400

0,125

m g AB
x

K

x

x m

°
=

× × × ×
=

=

< <

V<äßÚ<æ<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<12,5x cm=< 

5- ]<î×Â<˜e^ßÖ]<^ãÏfŞè<�Ö]<ìçÏÖ]<ì‚�<Ä•ç¹]<»<íe†ÃÖDV 

V<êâ<ìçÏÖ].T K x=<<V<äßÚ<æ 

6- <Ä•ç¹]<îju<íe†ÃÖ]<‚Ã’i<Õ^Ójuý]<ïçÎ<Ù^Ûâde<æ<íÎ^ŞÖ]<¾^Ë©c<_‚fÚ<î×Â<�^ÛjÂdeA<íÖ^Şj‰c<‚Ãe
íÎ^�<±c<íéÞæ†¹]<íßÚ^ÓÖ]<íÎ^ŞÖ]<ØÒ<Ùçvji<oéu<˜e^ßÖ]<V<ëæ^Šè<áçÓè<äé×Â<æ<íéÖ^Ïm<íßÚ^Ò 

.sin30 0,8 0,5 0,4h AB m= ° = × = 

7- V<êâ<íèçÎ^ŞÖ]<í×é’£]<äé×Â<æ<˜e^ßÖ]<íŠÚøÚ<í¿£<íéÒ†£]<íÎ^ŞÖ]<�^qc<çâ<Í‚�] 

 

 

 

 

 

 

 

<V<íÎ^ŞÖ]<¾^Ë©c<íÖ�^ÃÚ 

. .

. . .sin30

3,139( )

A A C C

A C

C

C

C

PP C PP C

PP C

C

C

C

E E E E

E E

E m g h

E m g AB

E J

+ = +

=

=

= °

=

< <

V<êâ<˜e^ßÖ]<‹¹<í¿£<íÂ†ŠÖ]<äßÚ<æ< <

2

2

1
.

2

2

2
2,8 /

C

C

C

C C

C

C

C

C

E m

E

m

E
m s

m

ν

ν

ν

=

=

= =

< <

< <
< <
< <
< <

EGíè†Ò˜e^Þ<GD<š…_  
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A1 

A0 

A2 

A3 

A4 

A5 

A6 

θ=0,02s 

I- ]ÖíéÖ^ÏnÖ]<íßÚ^ÓÖ]<íÎ^ŞPPE<V 

 

½^�Þ<�è†Ÿ<V<J<ð]ç�]<ÄÚ<íéq…^¤]<l^Ò^Ójuý]<Ù^Ûâc<íÖ^u<»<íËè„Î<íÒ†u<í‰]…�< <

Í‚{{{{{{{�]<V<V<íÎøÃÖ]<±c<Ùç‘çÖ]. .PPE m g h=J< <

_‚fÚ<íe†rjÖ]<V< <

<äj×jÒ<ğ̂ ÛŠq<Í„ÏÞ20m g=<<Ä•ç¹]<àÚ<î×Âù]<ç©O<<íéñ]‚jec<íÂ†Še0ν.<<< <
<<<<<<<<<<Ä•ç¹]<àÚ<l^Â^Ëi…þÖ<Œ^éÏÖ]<_‚jÚ<�jÃÞ0A<J< <

I †u<ð^ßm_<ÜŠ¢]<^ã×Ç�è<�Ö]<Å^•æù]<Ì×j§<ØrŠÞ<ØérŠjÖ]<î×Â<Ø’vßÊ<H<äjÒ
J<êÖ^jÖ]< <

I <V<çâ<°éÖ^jjÚ<°×érŠi<ØÒ<°e<Ñ†ÇjŠ¹]<àÚˆÖ]0,02sθ =<J< <
I <Å^Ëi…ý]<°ÃÞh<<Ä•çÛ×Ö<ífŠßÖ^e0A<<�Ö]<Å^•æù]<àÚ<Ä•çÚ<ØÓÖ<ÐÊ]ç¹]

<J<å�çÃ‘<ð^ßm_<ÜŠ¢]^ã×Ç�è< <
I J<Ä•çÚ<ØÓÖ<íÏÊ]ç¹]<íÂ†ŠÖ]<°ÃÞ< <
I V<êÖ^jÖ]<Ùæ‚¢]<»<íÞæ‚Ú<sñ^jßÖ]< 

< <
< <
< <

<< <
ØÛÃÖ]<hç×Ş¹]<V< <

1- V<Ùæ‚¢]<ØÛÒ_ 

2- <îßvß¹]<Ü‰…_( )Ch f E=<J 

3- <á^éfÖ]<ØéÚ<íÛéÎ<gŠu_
C

h
a

E

∆
=
∆

<<…]‚Ï¹]<ÄÚ<äÞ…^Î<Üm1

.m g

 −
 
 
<<oéu<H10 /g N kg=<J 

4- °Ã•ç¹]<°e<D<š…_<G<ÜŠq<E<í×Ûr×Ö<íÎ^ŞÖ]<¾^Ë©c<íÖ�^ÃÚ<gjÒ_0A<<Ä•ç¹]<æAJ<êËéÒ 

5- ×Ûr×Ö<íéÖ^ÏnÖ]<íßÚ^ÓÖ]<íÎ^ŞÖ]<ì…^fÂ<sjßj‰cJ<D<š…_<G<ÜŠq<E<í< <
< <
< <
< <

 

 

 

A6 A5  A4  A3  A2  A1  A0  Ai  
10,8  10,0  8,8  7,2  5,2  2,8  0,0  hi(10

-2
m)  

              vi(m/s)  
              EC(10

-3
J)  
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II- íéÞæ†¹]<íßÚ^ÓÖ]<íÎ^ŞÖ]PeE
 :

 

<�è†Ÿ<½^�Þ<V<J<êÞæˆ×u<˜e^Þ<ì†è^ÃÚ 

í×ÛÃjŠ¹]<l]æ�ù]<J<íÃée†Ö]<‡^ãq<H<êÞæˆ×u<˜e^Þ<V< <
�]{{{{{{{{{Í‚<íÞæ†¹]<ke^m<‚è‚�<VK<J<˜e^ß×Ö< <

Þ<¼e†Þ<V<gè†rjÖ]<_‚fÚ<¼e†Þ<æ<…^ÛŠÚ<»<˜e^ 

<x•çÚ<çâ<^ÛÒ<íÃée†Ö]<‡^ãœ<ì†£]<íè^ãßÖ] 

V<Øe^Ï¹]<ØÓ�Ö]<»< <
< <
< <
< <

< <

<íÖ^Şj‰ý]<…]‚ÏÚ<ØrŠÞ<Üm<ØË‰ù]<ç©<ğ̂ éÖçÎ^�<íÃée†Ö]<‡^ãq<gvŠÞ0( )
i

L L−<íÏÊ]ç¹]<ìçÏÖ]<íÛéÎ<æF<J< <
<íÖ^Şj‰ý]<…]‚ÏÚ<ì†Ú<ØÒ<»<�ÇÞ0( )iL L−<V<êÖ^jÖ]<Ùæ‚¢]<»<íÞæ‚Ú<sñ^jßÖ]<H<íÏÊ]†¹]<ìçÏÖ]<íÛéÎ<ØrŠÞ<Üm<H< <

1I <ìçÏÖ]<ì‚�<l]�Çi<îßvßÚ<Ü‰…_F…]‚ÏÚ<íÖ÷‚e<
<íÖ^Şj‰ý]0( )iL L−<V<êÖ^jÖ]<Ü×ŠÖ]<Ù^ÛÃj‰de 

2
0

:1 0,5

( ) :1 1,6.10i

F cm N

L L cm m−

→

− →
 

2I <°e<íÎøÃÖ]<‚qæ_F<<æ0( )iL L−V 

 

III - íéÞæ†¹]<íßÚ^ÓÖ]<íÎ^ŞÖ]PeE
 :

 

<�è†Ÿ<½^�Þ<V<J<êÞæˆ×u<˜e^Þ<ì†è^ÃÚ 

ù]í×ÛÃjŠ¹]<l]æ�<J<íÃée†Ö]<‡^ãq<H<êÞæˆ×u<˜e^Þ<V< <
Í‚{{{{{{{{{�]<íÞæ†¹]<ke^m<‚è‚�<VK<J<˜e^ß×Ö< <

<¼e†Þ<æ<…^ÛŠÚ<»<˜e^Þ<¼e†Þ<V<gè†rjÖ]<_‚fÚ 

<x•çÚ<çâ<^ÛÒ<íÃée†Ö]<‡^ãœ<ì†£]<íè^ãßÖ] 

V<Øe^Ï¹]<ØÓ�Ö]<»< <
< <
< <
< <

< <

<ç©<ğ̂ éÖçÎ^�<íÃée†Ö]<‡^ãq<gvŠÞ<íÖ^Şj‰ý]<…]‚ÏÚ<ØrŠÞ<Üm<ØË‰ù]0( )iL L−<íÏÊ]ç¹]<ìçÏÖ]<íÛéÎ<æF<J< <
<íÖ^Şj‰ý]<…]‚ÏÚ<ì†Ú<ØÒ<»<�ÇÞ0( )iL L−<V<êÖ^jÖ]<Ùæ‚¢]<»<íÞæ‚Ú<sñ^jßÖ]<H<íÏÊ]†¹]<ìçÏÖ]<íÛéÎ<ØrŠÞ<Üm<H< <

1I <ìçÏÖ]<ì‚�<l]�Çi<îßvßÚ<Ü‰…_F<…]‚ÏÚ<íÖ÷‚e
<íÖ^Şj‰ý]0( )

i
L L−<V<êÖ^jÖ]<Ü×ŠÖ]<Ù^ÛÃj‰de 

2
0

:1 0,5

( ) :1 1,6.10
i

F cm N

L L cm m−

→

− →
 

F(N)  (Li-L0)(10
-2

m)  Li(10
-2

m)  
0,960  6,0  17,6  
1,920  12,0  23,6  
2,800  17,5  29,1  
3,968  24,8  36,4  

F(N)  (Li-L0)(10
-2

m)  Li(10
-2

m)  
0,960  6,0  17,6  
1,920  12,0  23,6  
2,800  17,5  29,1  
3,968  24,8  36,4  

L0=11,6cm 

L0 L0 

B 
X=Li-L0 

Li 

L0=11,6cm 

L0 L0 

B 
X=Li-L0 

Li 
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2I <°e<íÎøÃÖ]<‚qæ_F<<æ0( )iL L−V< <
< <

<½^�ßÖ]<ØuV< <
1I <êÞ^éfÖ]<îßvß¹]<Ü‰…0( )iF f L L= −<V 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

2I <V<îßvß¹]<Øé×� 

<V<ØÓ�Ö]<àÚ<äjÖ�^ÃÚ<_‚f¹]<àÚ<†µ<ÜéÏjŠÚ<¼}<àÂ<ì…^fÂ<êÞ^éfÖ]<îßvß¹]0( )
i

F a L L= −< <

<V<oéua<<V<äßÚ<æ<äéqçjÖ]<ØÚ^ÃÚ
0

3,98 0
16,04 16 /

( ) 0,248
i

F
a N m

L L

∆ −
= = = ≈
∆ −

< <

<V<äßÚ<æ016( )iF L L= −< <
                <Ønµa<<˜e^ßÖ]<íÞæ†Ú<ke^m< <

íréjÞ<V 

< <

        <˜e^ßÖ]<†içi<ìçÎ<ì…^fÂ<îŞÃiF<íÖ^Şj‰ý]<…]‚ÏÚ<íÖ÷‚e<x<<V<íÎøÃÖ^e.F K x=<J 

 

 

 

 

 

 

 

 

 

 

 

(Li-L0)(10-2m) 

0,5 

F(N) 

1,6 
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< <
< <
< <

III- íéÞæ†¹]<íßÚ^ÓÖ]<íÎ^ŞÖ]PeE V 

�è†Ÿ<½^�Þ<V<J<†è^ÃÚ<˜e^ße<�æ‚�Ú<ÜŠq<íÒ†u<í‰]…�< <
í×ÛÃjŠ¹]<l]æ�ù]V<<äjÞæ†Ú<ke^m<†è^ÃÚ<˜e^Þ16 /K N m=<_<HJ<íË×j§<ØjÓe<Ý^Šq< <

íe†rjÖ]<_‚fÚ<V< <
äj×jÒ<ÜŠœ<˜e^ß×Ö<ì†£]<íè^ãßÖ]<¼e†Þ<æ<…^ÛŠÚ<»<˜e^ßÖ]<¼e†Þm<H<íéñ]‚jec<íÂ†‰<áæ‚e<¼ÏŠè<äÒ�Þ<Üm<H

<Ä•ç¹]<±c<˜e^ßÖ]<ØéŞjŠéÊBJ<íÂ†ŠÖ]<Ý‚Ãßi<àè_< <
I Ë×j§<ÜéÎ<Øq_<àÚ<íe†rjÖ]<…†ÓÞí×jÓ×Ö<ím<íÖ^Şj‰ý]<…]‚ÏÚ<ì†Ú<ØÒ<êË×rŠÞ<æ( )xJ 

V<êÖ^jÖ]<Ùæ‚¢]<»<íÞæ‚Ú<sñ^jßÖ]< <
x

2 
(m

2
) m.g.x (J)  x (m)  m (kg)  

    0,12  0,10  
    0,24  0,20  
    0,36  0,30  
    0,48  0,40  

< <

<hç×Ş¹]<ØÛÃÖ]<V<< <
1- V<Ùæ‚¢]<ØÛÒ_< 

2- ×é’£]<¼Â_J<í‰æ…‚¹]<í×Ûr×Ö<íÎ^ŞÖ]<¾^Ë©c<íÖ�^ÃÚ<gjÒ_<Üm<HD<š…ù]<G<˜e^ßÖ]<G<ÜŠ¢]<E<í×Ûr×Ö<íèçÎ^ŞÖ]<í 

3- <îßvß¹]<Ü‰…_2. . ( )m g x f x=<J<<4I<<V<ì…^fÃÖ]<íe^jÒ<àÓµ<äÞ_<°e<21
. . .

2
m g x K x=<J 

<<<<<<<<<5I<<<íéÞæ†¹]<íßÚ^ÓÖ]<íÎ^ŞÖ]<ì…^fÂ<sjßj‰c
Pe

E<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<J9,81 /g N kg= 

IV - <<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<     - IIIíéÞæ†¹]<íßÚ^ÓÖ]<íÎ^ŞÖ]PeE V 

�è†Ÿ<½^�Þ<V<^ße<�æ‚�Ú<ÜŠq<íÒ†u<í‰]…�J<†è^ÃÚ<˜e< <
í×ÛÃjŠ¹]<l]æ�ù]V<<äjÞæ†Ú<ke^m<†è^ÃÚ<˜e^Þ16 /K N m=<J<íË×j§<ØjÓe<Ý^Šq_<H< <

íe†rjÖ]<_‚fÚ<V< <
äj×jÒ<ÜŠœ<˜e^ß×Ö<ì†£]<íè^ãßÖ]<¼e†Þ<æ<…^ÛŠÚ<»<˜e^ßÖ]<¼e†Þm<H<íéñ]‚jec<íÂ†‰<áæ‚e<¼ÏŠè<äÒ�Þ<Üm<H

±c<˜e^ßÖ]<ØéŞjŠéÊ<Ä•ç¹]<BJ<íÂ†ŠÖ]<Ý‚Ãßi<àè_< <

IV- í×jÓ×Ö<íË×j§<ÜéÎ<Øq_<àÚ<íe†rjÖ]<…†ÓÞm<íÖ^Şj‰ý]<…]‚ÏÚ<ì†Ú<ØÒ<êË×rŠÞ<æ( )xJ 

V<êÖ^jÖ]<Ùæ‚¢]<»<íÞæ‚Ú<sñ^jßÖ]< <
x

2 
(m

2
) m.g.x (J)  x (m)  m (kg)  

    0,12  0,10  
    0,24  0,20  
    0,36  0,30  
    0,48  0,40  

< <

L0 

EPeA=0 

B 

x 
h 

EPP=š…ù]<xŞ‰ 

L0 

EPeA=0 

B 

x 
h 

EPP=š…ù]<xŞ‰ 
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<hç×Ş¹]<ØÛÃÖ]<V<< <
4- V<Ùæ‚¢]<ØÛÒ_< 

5- J<í‰æ…‚¹]<í×Ûr×Ö<íÎ^ŞÖ]<¾^Ë©c<íÖ�^ÃÚ<gjÒ_<Üm<HD<š…ù]<G<˜e^ßÖ]<G<ÜŠ¢]<E<í×Ûr×Ö<íèçÎ^ŞÖ]<í×é’£]<¼Â_ 

6- <îßvß¹]<Ü‰…_2. . ( )m g x f x=<<<J4I<<V<ì…^fÃÖ]<íe^jÒ<àÓµ<äÞ_<°e<21
. . .

2
m g x K x=<J 

<<<<<<<<<5I<<<íéÞæ†¹]<íßÚ^ÓÖ]<íÎ^ŞÖ]<ì…^fÂ<sjßj‰c
PeE<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<J9,81 /g N kg=< <


